R01E ST § TR TN g A

oFef

ZHE .
o T g

Ry sdErd ERGEI
R0Y8/Y /9 WRAT AN ARG
\ quE wialeE a1 4 9@
£ Tz /i ﬂb—g ug 3T T ey | T @ETE ACEEERT
e R B sgaE
PE TEF EIRGE]
AT | de=|r 99 LEEl
LEEEIET
9 | wex wf= Esq9¥0 | R R,23% 99,&9 &
3 | Ty, fafEe §3,650 | R 3,020 8,550
3 | wuRE (O wEe) ¥3,%00 9. Y ¥3,600
¥ | WO wam ¥q,3c0 | G 9,85 £0,20%
v | T, fadm ¥R,350 | © 9,¥93 ¥3,6c¥| R 9.¥93 ¥&,%90
& | U9 gdig 38%%0 | © q,RE0L ¥5,9%E&| R q,%E8 ¥0,6€0
RELEREE
¢ | TOAAYIH AW UmEA WOEE | 33,50 33,530
| e 30,300 | 90 q,00¢ ¥o,380| R 9,00 ¥3,2C0Y
¢ | wuaH.EdE A YA waeE | 3],460 3%,%60
q0 | TG RG,&90 [ g0 Y 3g,q40| X Yy | ¥0,04%
99 | WA R¥,090 | © zo9 R,&96| R coq 1.31%
| 9% | s g R,E50 | & Y & R0,29&| R ¥ & RE,6RE
| oft garlt T @s
93 | 9f9f w2 3€.9¥0 | ¥ 1,304 ¥0,%50| 3 9,30% | ¥3,300
9y | Iqd FTT I¥.€30 | R 9.94¥ 36,235| R 9,9%Y | 3%,23%
1% | g9 6T 38R0 | R 9,0%9 3¥,R03| R 9,029 30,08y
9& | EdE @ 5R%0 | R REL 30,23Y| R REL 33,545
98 | 997 T Y, cYo R T&R Re,xey| R TER RR,3R¢%
TS TN AWS
gz | e = 3yE0 | ¥ .94 [ 32,238 = .94y [ ¥9.4¥Y
9% | 5qf T 330 [ 3 9,089 3¥,203| R 9,089 [ 38,05¥%
30 | qdE W ER%0 | R REL 30,23 < REL | 3IREXE
39 | fedfrm = R.6xo | R G&R e ney| 3 S 3%,%%¢
IR | w9 FT ¥,090 | R o9 &3] R zog R0,39%
=
A




R0X\8/ Y/ WeaT BRI
YT Wifafass =1 97 9wz
: \ (& T | g AT GIETE ATUHREHT
.4 g/ 3of U T e :
| e EURRERCRSETS )
e Rt A qq
BB
23 | ulsf T x R, ¥€0 | ¥ RER 33,3z
RY | = T REL90 [ 3 S8 RT¥RR
R | g T ™R30 [ 3 z¥9q RE,58%
R | g w=x R3,530 | R B Y RY,¥30
R0 | wuH Ty 3,650 | 3 Y § XY
Rz | ufst = e 5,590 | ¥y R€9 3IRENY
RR | wad T R§,080 | 3 S 9,k %
30 | g @@y R¥,330 | 3 zog RY,5¥E
39 | fadi w=¢ 580 | 3 g3 Y,3cy
3R | W9H T 39,800 2 e30 33,350
33
3y
3Y
g
\3
g3




0% T 9§ ARG TR g TwaA

ATl ¥ T R

*.4. ESll & qod Tl | IS Fedr| U W ST
1 | 9o FA £o,9v0 R 35| 9,&9€
R | SY,4yo| X qUR|  €5,5YY
IS 3,650 X R0%0|  £5,550
Y | "ews W 3,000 % quEle 9,534
¥ | HeT E ¥e,3c0 X 98¥%| 4890
& | vHE EA ¥y, ¥go| & 9996  4y¥UuS
C K ¥3,3c0| © %93 43,55Y
c | "E-gamr ¥q,040| & 93&% ¥RV
] | Su-g=T 3¢.330| & q30C ¥\8,08%
q0 | Hgem® T 3,220 31,3%0
R EGCEEE R 38,830 38,630
qR | AT Su-ErET 3%,c50 38,580
13 | 9@ FIER 3y 540 3 99 &% 3,R906
¥ | gesX 30,300 3 q00.8 30,R¥%
% | WHIR 35,280 & 43 3¥,RGE
& | EEFT, BT RY,coo| & &R RR,EER
16 | AHAER R¥,090| © 509 R},E90
iz | =& 23,950 o CICR RR],33%
9% | T 3,650 © ug|  3gu3z
Ro | i@pe 39,¥50 R4,¥c0
Ry | 7 wFECTE 29,¥co| 910 e3&|  RT,EY0

A TR T

33 | YrEdic <9t ACKICIE R R,RRE& 99,1 ¥%
3 | weEw £q.xoo| % 0Y0 8q,8¥ 0
Y | "eT g yy.o30| % 153y &Y¥,9%0
Y | yHE A 3,890 & 329 g Y, Y1 &
& | g ¥q.k50| © 0%, E¥,%3%
e | FE-EAE Yo, yeo| & 1453 $&,REC
Rc | SU-gAm ywuzco| & qY 30 Y'Y, 800
3% | ARE FERR 3v,cgo| 93&R YE.EQY
30 | BRI 39,680 © q04% 3%,903
39 | SER 39,9%0| & 103]|  36,3R¥ LA
IR | B 3,000 & 200 EQ'XOOM\ (% Sa



.9 Z & q9d A | gemn| UE W AT

ER ALY RY,8z0 o TRE& 30,%ER
33 |7 FFERE
3y | e uter @} g, yeo| ¥ QY3 33,38%
3Y | FellHE Fqd T Y, cyo| R ze3| %6y
3% | weEE qdE ¥,090| R o9 LPRA L
3¢ | wored fGdm '\ 3,80 R Y & R¥,9%%
3c | FerHdE 99H w6 34,¥50 9 & RR,219%




00T FET § ARG AR g qeaHT

REICE L A 3
i T ¥E a0 o | U wem | U= 3T ST
Q| . wE-FaEE 3,650 E R,0%0|  &£§,5&O
3 | W me-FaEE &3,650 3 3,00 $6.550
3 | v wer-HaEw Y 3,000 3 q,e8¢| 45,309
y | wakw sTfEs ¥%,350 ¥ 9,5 ¥& ®Y,REY
Y | 9. S9OEE ¥X,¥&0 4 1,49& ¥3,0¥0
¢ | v T SudEE ¥R,350 | 9,¥93 ¥R, ¥ ¥%
s | 7w 36,90 g .60  ¥5,qR%
c | war. Fas 30,300 z 4,008 35,346
R | w. wemw FEE g eeo0| L L3 I’V
qo0 | 9. FaeER R¥,090 © zo9 R,E90
99 | w.5E@™ R,&C0 c CPEC] B I ACE§
13 | fwe R9.¥50 Rq,¥%50
93 | ®oEd (F99 §94d) R1.¥E0[ 90 9 & 3T, Y0
——
\




01T WRA § AR WH] g aesHT

A VB oA, A9 AT ¥

.4 EEf € dad THd | U gen g T Ep=]
q | AH. wE-FdEE §3,650 E 3,080  &§,5%0
3 | gw.a. we-Fhas §%,650 3 3,080 €€,580
3 q9.- 1 W—ﬁ'ﬁfﬁ? Y 3,000 El 9,880 Yz, 309
Yy | gWang el ¥%,350 ¥ 9,8 %% $YL,REY
Y | 99 IuaEE ¥Y,¥E0 Y q,29% Y3,0¥0
¢ | awAn IThEs ¥R,3%0 El 9.¥93 ¥R, ¥¥Y
CRN A A TiED 3,20 c 9,86 ¥%, 93§
z | awake T Ghae 3,840 3 9,95%| 35,035
o | wwAn Fée=® 30,300 § .00 36,3¥R%
qo | A.u.EeEmE Fdas 35,480 © Y3 34,2%9
99 [ 9.9, 8deak 2¥,500 & R RQ,LER
93 | TH. AR 3¥%,090 9 zo9 3,890
93 | 9. 9. HgldH gdesll 3,090 = Lo R, R¥0
9y | W@ IR,&50 c 9% & 35,935
qy | fepe sl fadm R9,¥z0 R9.¥z0
95 | ®aEd (I Twa) 39,¥zo| 90 B9 & R5,E Y0




06T FEA § AL R A qeEHT

ey ar ERCCI

.9, & & qod Tl | IS gEar [ Ug qW AT
9 ﬂﬁrﬁfaﬁ &R,&50 3 3,00 £%,CE0
3 | Afuga gERi 43,500 3 N EECEE
3 | afugd = ¥e,350| ¥ 9,6¥%| UYREY
M ECEaR yiuco| ¥ 9,430| 49,850
w | st smet ¥:,350| ¥ 9,¥93| ¥5,03%
& | A 33,080 ¥ LAY YRMAR
o | afuza get 36220 X 9,360  yv,3RY
¢ | afee ot 33,5R0| 4 1,02¥| 35,3%0
¢ | wem® & 30,300 & q,006  3%,3¥%
qo | wEmEE = Rg,Eq0| @ evy| 3%REE
99 | "errE = R¥,090[ G zoq| R%.690
9% | HEES IA IR,650| B ek &[  Re,’0%
93 | 98@® TIH R9,¥zo| 9o ©q & RG,EY¥0




006G FNT § TR AN § q@EHT

9 Yar FAAGH €
ROY /Y /q AT A YR
qrues| yifafess a1 |91 99 aessr
= w3l eI | T | | T e i
(£ Hedr e
TCTSTHT 99
YA HHA
q | e §3,650| <X 3,020|  §§,550
3 | #fafes afFE (G== waeq) | 43,500 ¥3,500
3 | v ¥R,3co| © 9,8 Y& 0,203
¥y | fadm ¥3,3c0| & 9.¥93| 43&5¥| R 9,¥93 ¥ §,%90
Y | g 3,2%0 9,388  ¥EZ9E&| R 9,358 40,650
i TR e A
& 9gH AHIL 3R, C.RO 3I¥,GHO
e | uaw 30,%00| 190 9,00 ¥0.30 ] 9,008 ¥R,3CY
¢ | fgdrr smn 3%,%50 3%,%90
. | T 35,690 1° *¥¥| 359%0| 3 YUY ¥0,04%
{0 | g J¥,090| © coq| 3%,899| R zoq 39,R9%
19 | =qd },660[ & gl  R998[ R Y & 35,835
ol T =@
93 | o=t 97 3%.9¥0| ¥ q,:0%| Y¥o,%%0 2 q,20% ¥3,30
93 | wqd = 3¥,630| 9,9%¥| 3§35 R 9.9%¥ | 3R,R3¢€
1y | qdT @8 33,030| X 9,029 3I¥R03| R 1,029 3s,05Y
% | e a7 Rg,eR0[ X efle| 308%¥[ 3 REG 3IR,G45
~< | 99w 98 y,cyo| X G&R 2,8y 3 =5 8,345
0 F21 Te- WISIUET TSI UEHAE 99 g €.300/-
F®T G Aew
qe | o= a' 3Y,§R0| ¥ ,9%%| 3%,33&| R 9,9%% ¥9,%¥Y
9¢c | @4 @ 33,eR0| <X 9,029 30| R 9,029 30,05Y
9% | 9417 @ IgeR0| X egs| 30,23 R 25 33,54C
20 | Tdg 9 y.cyo| ® G&R CER LGS 3 T&R RR,3%¢%
39 | v4W ¥E R¥,090| X zog| RW,&93| R o9 3,79y
BT qe- WISUUH] qATHT UHHE 99 FF €.340/-
HAfag geantt
R g0l ¥ _u3  3R,38R
33 | wqd @® Y, guo| * g&3|  je,xLY >
Ry | qdm R¥,090| X coq| RLEIR
3y | fedim qe R.Ez0| BeE|  R¥,9%%
2% | yaw 9@ :q,¥zo| sae| =293 o\ | o
2T TB- WSUUH| dAFH UFAE 99 g €.200/-

g e




30L5 WS | A R A qesAH

TR Eares FERG s AT &
4. gz /5qeft & 09 THd | U dem| YT W ELl
AT
q  |wremtEE (waw Efh) ¥%,3z0| & 9.6¥6| UR,3NE
R |wemfas (i =f) ¥3AE0 G 2.¥13 ¥£3,65Y
3 |wemfEE (Fdm Aefh) 31,2%0 9,260  ¥7,33%
A wenfaE
¥ | meafas (waw sf) 3,550 9,330 ¥oXRo
y  |FE wremtEs (e 2ofh) 39,220 9,36 ¥G,q 3%
& |Fw wrentea (Gda 2ofh 30,200 9,008 3534
FlRiEc
¢ |vguedr st (v =mfh) 31,%%0 g 9,259 ¥%,9 3§
z  |vg.ued st (Fde 2nfh) 30,300 G 3,000 35,34 %
% |wE.gaH il (gl Sofn) 2z,890| & x¥| 3¥,33¥%
qo |3F fawaem ga.uedl A 3¥,090 & zo9 35,69%
99 |gg famasean wdi v ge A 3R,&50 g Y & R,R9&




R0LL |IST | TAdfd @R gH dAaHH

JeuT q9T TG T8 I ©
30%6/y/q W A Fafe
T WAt a1 & 98 qessl
_ ywEaed | ¥ | . WETME AUFEEHT AR a9
F.H| /A0 < , Ug T el
TFe e BB
q |sfaza Rt ¥3,500[ ¥ q.6%%[  &9,390
2 |sfapd =t ¥%,350 ,6¥%| 0,303
3 |afupd &t ¥y 45o| 9,430  ¥&,3%0
y |afupa wmet ¥%,350 9,¥93  4R,R09
v, |afuga gt 39,50 q,33%| %0,%0%
§ |sfuEa et 39,330 1,380  ¥5,93%&
o |wema® et 30,300| 0 9,008 ¥0,3E0
c |weras =t 3z,890| g0 e¥y| 35940
ft g =
o | ¥t T 35,9¥0| ¥ q,204| ¥0,%80| = q,204|  ¥R,96%
o | wqd T ERAEE] I .94 3E35[ R 1,94%| 3508%
99 | T TR 33,630| R 9,023 3¥,R03| R 9,029  3U,%R%%
92 | e =< :5,%0| R REl] 3I0¥| R &8l  39.5%9
93 | WIH 6T Ry, g¥o| R C&R R,48Y| R &R RE,¥3%
TS FA TWH
qy | utst T 3Y,630[ ¥ ,9%Y| 3%,23&| R 9.9%¥| ¥0,3%0
QY | Fqd ¥ EENCEL] 9,089 3¥,R0%| R 9,089  3%,%%3
Q& | g TR 35,%%0] R REL| 30,%3¥| R &l  39,5%9
16 | e & 3Y,5%0| R z&| RvuLY| R c&|  RE,¥3%
9c | wam =% 2¥,090( 2 zoq| W& R zoq| R%,¥93
¥ ey3| 3R,38R
3 TER R, LY
3 coq|  IY,E9R
2 SR YALE
3 SRR KA e
(/
n ()
P




